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Program: Electronics and Telecornmunication Engineering

Curriculurn Scheme: Rev20l 6
Examination: TE Senrester VI

Coursc Code: EC'C'DLO 5A22 and Course Name: Radar Engineering

Time: 2 hour 30 i\{inutes Paper Code 88946 Max. Marks: 80

Ql.
Choose the correct option for following
compulsory and carry equal marks.

questions. AII the Questions are
2 marks each

1 The radar in which both transmission and reception is done using the same antenna
are called:

Option A:

Opt." R
Monostatic radar

Bistatic radar

Option C: Monopole radar

Opticn D: Dipole radar

2. The term radar cross sectton defines the:

Cption A: Amount of energy scattcred by unwanted objects

Option B: Power radiating ability of the radar

Option C: Scattering ability of the target

Option D: Cross section of i'adar area through which energy is emitted

3. The minimum Doppler shift is equal to

Option A: 100khz

Option B: Zero

Option C: Infinity

Option D: Transmitter fi'equency

4. Pr received by the Radar depends on the effective apertwe

Option A: A" of target

Option B: A" of Receiver

Option C: A" of clock pulse

Option D: Ae of transmitter

5. MTI radar operatiirg at 5 GHz has a PRF of 800 pps. The lor,vest blinC speed is

Option A 64 m/sec

Option B 48 r/re.
Option C: 36 rnlsec
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Option D: 24 mlsec

Which statement regarding CW Doppler radar is wrong?

Option A: Pulse radar

Option B:

Option C:

Doppler radar

Cross section radar

Option D:

Thecharacteristicofthemagnetronoutputpulseiliffierange
measurement is its

Option A:

Option B:

Option C:

Option D:

Option D:

Option A: it does not use duplexer

Option B: it gives continuous transmission

Option C: it gives accurate measurement of relative velociiy
Option D: it is capable of measuring target range

by'measuring the round trip tirne of a

Option None of ihe mentioned

What are the two basic kinds of cross-field amplifierc (CFAs)'?

Cross beam and perpenCiculai'beam

Injected beam and distributed ernissicn

Reticulated beam and focused beam

Mad beqrt and upset beam

Decayrtime

Duration

Rise time

Electron -bombarded semiconductor has foll owing tec hno logy

OStion A: Vacuuin tube

Option B: SemiconCuctor

,rnco"d"cto.

Metal semiconductor
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Q2
(20 Marks Each)

Solve any Two

-

Explain PPI.

5 marks each

Solve any One I0 mark each

A

1.

1l

lll

B

I Explaln rulse uoppter Radar with a suitable diagram
ll.

Q3.
(20 Marks Each)

A Solve an1, Two

Explain Superheterodyne Receiver.

Expl:in Maxiraum Unum

Explain the co.ncept of

Solve any One 10 mark each

Compare low power tiansnri
advantages of solid-state RF power roufu".

Explain lvlonopul se trackinE in?etail

Solve any Two 5 marks each

Explain Frequency Agility una Dir.*ty t.cf*iqo.

compare cw Radar with Fr.q,,ency rnoclulut.d .a,tu.

Draw Block diagram of MTI raclar unC
I

3 | Page

5 marks each

(20 Marks Each)

Explain factors which go,

Solve any One 10 mark each

What do you mean by Radar Cross section?Explain RCS of Sphere, Rod
anC cone
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